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Solve any rwo of the following differential equations :

2 d’y dy 2
fa) x F+2xa—20y=(x+])

dy L dy 2 3
(b) e ?h;-i-y=xe3

,d%y dy.
(C) L (2x+3) de_2_2(2x+3)-£—|2y:6x

Section 1V
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6.6

Solve any fwo of the following partial differential equations :

() F-yp+ (P -zmg=2~-xy
@) @+ P =R+

@i pQ(1 + éz) =gz - a)

(@) Solve : u
0z &z
a‘z‘—% = C0s X COs 2y.

({b) - Solve the partial differential equation :

(D? + DD’ — 6D"?)z =-y cos x.

6,6
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Question No. 1 is compulsory.

From the remaining, attempt five questions,

( selecting at least one from each section.

1. Attempt any five parts : 3x5

. [log, 1+2h)—-2log, (1+h)]
Eval 1 L =
(a) : valuate ‘ljl_rn) P

' (b)) Examine the continuity of the function atx=0:

Ll e I/x
j(X)= |+eln'x’
; | Uil

x#0

P.TO.



(c)

(@)

(e)

®

(h)

(@

®)
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Compute the value of I'(— 3/2).

Show that :

N

X

Iey"*dxd'vz—l—-
: i

O ——

Solve :

J@+x) Z iy = (@@ +x?)-x.

Solve the differential equation :

&S

(4D? + 4D - 3)y = ™.

* By eliminating the constants, obtain the partial differential

(=]

2
equation from the relation 2z = +-¥~2—-

QNIH

Solve the partial differential equation :
z = p*x + g%.
Section I
Ify=x(x+1)log (x + 1), tt-len prm‘fe that.

&y -3 ' (n-3)! 2x+n) e

. : > 3.
dx" (x+1y 1

Obtain the maximum or minimum value of u given by

u=x»»p 1 -x-y. 6,6

3
(| a
() (
4,
1) u
8,
‘ C
6.

(3) 17

If0= t"e" ’2“'. then find the value of n» which will make

(@)
B ( i ae) 20
—_—r— | =—
r® or or or
(b)  Find the position and nature of the double points on the
curve : : 6,6
Wy - 6) =x(x -2y -9.
Section 11
(a)  Show that : .
_ I(m)I'(n)
B AN T
: (b) Evaluate : - 6,6
1 3
e de
o X+ (x"+7x+12)
(@) Find the limit, when » tends to infinity of the sum
= 1 [n+r
on —r'
3 =y
() Change the order of integration in f r (e—] dx dy
: i i
and hence find its value. | 6,6
Section I11
Solve the following differential equations :
(@ (D*+ 1y =cos 2x
‘ 1 X
(b) _.c..b’....i. ~112. 6,6

yde 1-x 7
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